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III III
Not isomorphic because we cannot find a bijection
between the edges the graph on the left has edgesgoing
from the inner square to the outersquare on opposite
sides the graph on the right has these edges on
adjacent sides



24 itTrue two graphs are isomorphic we have a bijection
between theiredges and vertices for some vertex V
F u has same number of edges the two graphshave the
same degree sequence
in False see 2.3 part it for two graphswith the same
degree sequence which are not isomorphic
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degreesequence I I 2,2 of edges 3 1 1 2 2 2.3

di
deg seq 1,22,3 ofedges 4 1 2 2 3 2 4
E

deg seq 2,2 2,2 ofedges 4 2 2 2 2 2 4

17,1
degseq 2 2 3,3 of edges 5 2 2 3 3 2.5

dÉ
eq 3,33,3 of edges 6 3 3 3 3 2.6

29 Suppose G is a simple graph with at least two vertices
Case 2 Novertexhas degree I
The degree sequence is 1 E d E Edn En 1
if there are n vertices
By the pigeonhole principle at least two verticeshave
the same degree
Cases one vertex has degree I
Consider the graph G which is G without this onevertex
Then at least two verticeshave the same degree in G
bycase 1
Casey At least two vertices have degree I a.k.a have
same degree we are done
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2.12Adjacency Matrix
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3 0 I 2 2 0
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